
231

SOEW 0803
Indexable Brand:PLBT

SDMX 09T3
Indexable Brand:PLBT

Item Code Stock Inter C Dimension mm Spare Parts

SOEW 0803 Stock Inter 
Coolant D Z L1 L d M Insert Screw Torx

HEI.1199600   32 4 36 60 17 M16 SOEW 0803 M3X8 T10
HEI.1199700   35 4 36 60 17 M16 SOEW 0803 M3X8 T10
HEI.1199800   40 5 36 60 17 M16 SOEW 0803 M3X8 T10
HEI.1199900   25 3 28 50 12.5 M12 SOEW 0803 M3X8 T10
HEI.1200000   42 5 36 60 17 M16 SOEW 0803 M3X8 T10

Item Code Stock Inter C Dimension mm Spare Parts

SDMX 09T312 Stock Inter 
Coolant D Z L1 L d M Insert Screw Torx

HEI.1200100   25 3 28 50 12.5 M12 SDMX 09T3 M3X10 T10
HEI.1200200   32 4 36 60 17 M16 SDMX 09T3 M3X10 T10
HEI.1200300   35 5 36 60 17 M16 SDMX 09T3 M3X10 T10
HEI.1200400   42 6 36 60 17 M16 SDMX 09T3 M3X10 T10
HEI.1200150   32 3 36 60 17 M16 SDMX 09T3 M3X10 T10

HEIKE NE I" - Wlt~~uvlu.striette~i;el\ 

LI 

LI 

L 




